EARAROBREBRT —5 XN—ZXBISH—F

2021118218 (H) 201{E56H

:ZKM}K%EIJ 1BIS52 YSRIZLES BRI
[AXE%] 1 &:10,600,000 @ 2 3#&:4,200,000 33#&:2,700,000 9  43#%:1,600,000H . 5 3%&:1,060,000
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
-2 = o4 | REE 1:10.5 2-2 35.0| 95.1 | 9 | 474 |[IRE RN
/7\\.9_ “7\7°IJ:7. o 57.0 =) © |DMMEU=LZ5T ()
R:O—RHFO7 B:RI—XAVN—FAR REMS
— S f HHEA 1:10.6 7-7 34.8] 943 | 7 Mp | BTEBS ER)
: (1/2) - /fn:ll_?ﬁ
RAEWN—T BRAI—AY | G
N — BT 1:10.6 4-4 35.0 | 94.1 1 1456 | ZHET (RR)
HhEe/9=Z/)7VAh o4 | BB A
: (79%) b= (EarI =
R:O-RAFOFP BRAN—FIAY ’ | Zgsor—n
KS=HYI—T €5 y%*ﬂm 1(:10.)7 4-4 35.0(93.1| 3 486 ‘rjgrEii?(%ﬁ)
= . 1/2 =87
RTVVFFELT 4 BA—N—F LY 2| sragig
= B3 | ZEEA 1:10.8 1-1 35.4191.9 | 11 | 442 |REHE EH)
TTZ'jZ T, %6.0 %) @2 | B SLI7—L
RS IVUVTVR BFIIR- SWT7F—L
> S~ ) g~ iz npedee] 1:10.8 2-3 35.3191.9 | 13 | 468 |EHEHSRiE (RFR)
®@FTUIREBYFY i3 56.0 i =
. (7E) = EHFRE
REVIARAN BT —THIR 10| ipenig
SSH~ it 3 | EREAR 1:10.9 11-10 [34.9|91.2 | 8 49) | KMIEE (=8
71519 77?/2\7“/ o 54.0 @e) ) | ZVARE (%)
RiN=VT54 B:A-FZ7 7'S RIS
~ 3 4 6 | FIAMER 1:11.0 7-7 35.2| 89.9 | 10 1462 | BUWER EH)
8|8[15 XA RILTUZFA 57.0 (1/2) © | @8 9STLYRIST-S5T4F
RiIAFAT=ILR B:RARTUVER EvIUy RIT7—LA
PR H 3 | BEHED 1:11.0 11-12 [35.0] 90.1 | 4 | 470 |BHRE &R
91713 /’i.?iEg\’f/“El J.:F 56.0 (F92) 2 9:7“E_(1‘$k)7
R:NZ—ka1—RX B:Fv—LKv bk TIDST7P—LA
~) s 3 | BYEEM 1:11.1 15-15 34.7| 89.3 | 2 474 | FIBEN @)
108Y 6 | BADVILER 56.0 (1/2) _a) | BT
R:O0—-IVIUY B:VYILYIrDYID (-4) Il KB
ED st 5 | KEVEE 1:11.1 16-15 | 34.5| 89.5 | 16 | 416 |ZLHE &)
nggn| PIAYYSY®R 5.0 E) @ |DIE T
SN—ANR BOIRIVI4—Y YIRIVT7—L
~, P~ 3 | REBER 1:11.1 10-12  [35.2| 88.9 | 5 454 | BEEC (ER)
12| 5[10| AT FYTAYT ) 5.0 F9%) () | EBAEEHD ()
R:O—RAF0O7 8945y hF—/¥— #HET7—L
o4 | BETE 1:11.1 7-4 35.3]88.8 | 12 | 42 |BEEEHR RR)
% > MESEIZS 57.0 F5%) 0 |8 95TLyrI5T 5747
R:AIJU—rbe—0O— B:YARXRIL—F G A
S5 _ s o5 | dlEE 1:11.1 1-10 | 35.1) 89.0 | 14 | 468 |dEE )
1)1 @379YFa— 55.0 () (q) |EEE—
R:IARD—=ILYF— 8B:5TN\—h ml &
5 SN = 4 3 | SHER 1:11.4 11-12 35.4| 8.8 | 6 1462 | BREE (RH)
15/8|16| ¥ 2 —/NOY T« 5.0 (1172 | BN
R:O0—RAF0O7 B:7RIIPHITUF D | Esnor—i
j o — 3 % 4 | REEE 1:11.4 4-7 35.7| 85.8 | 15 | 492 |EWERLC EH)
6|7414) DT e 5.0 2E) (1) |BIEE
Ri/YTURS B:RA—Lv MRE #HET7—L
[ BN
En'w 46.6-35.1
Nav9IA L | 12.7-11.2-11.5-11.7-11.3-12.1
@ 11— —B&IEfI
13— —
20—F—
30—7— 3(7,8) (2,12,14) (4,5,15)10(1,9,13,16)-6,11
43—F— (+3,7)8(2,4,12) (5,14,15) (1,9) (10,13,16) (11,6)
o ILRE
BB 7 1,190 JA R 5-7 3,390 % 3E 3-4 2,370 3EE 5-7-12 19,030M4
B B 7 470M4 7-12 1,880M3 5 E 57/ 10,0004 3EH /=512 124,320
5 360 5-12 1,330 =51 7-5 16,710
12 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




